12 RAYDBOEE

R 2 ]

SEER (E) <BESTOER>
Ma+Mb=M (a+b)

BEAR (2RO) <BESTFER>
x2+(a+b)x+ab=(x+a)x+b)

G ZEEZEDOIDHED |
(Db?*+3b

=( )X b+3X(__ )
= )¢ + )

HBRHE
2)5x?4+10xy

=(_ )XxXx+(_)X2XxXy

= ) ( + )
<BE1>HBRHBCTRHBOBE LIRS,
Da?*+5a

@3ax—bx

@®8ax—4a

@6ab+18bc

®12x*—4xy

®x*y—xy

Dxy?—x’y

®5xy?—10xy+15x?%y

B> ZWZEDSHRD |

MDx*4+10x+21 {a+b=
ab=

=(x+ ) (x + )

D x?—3x—18 {a+b:
ab=

<EE2>EORAZINAULUTCRBEDELEZS,
DOx?*+8x+15

@x*+11x+28

@x*+2x—24

@Wx*—5x—14

®Ox*—7x+12

®a?*—2a-—3

Dx*+3x—18

®x*+14x+49

F¥F5 AR (ARQ)

a’+2ab+b%=(a+b)?
a?—2ab+b%*=(a—b)2

EEMERHKES |

Dx?+12x+36

=( )*+2x( )x( )+ )P
= + )’

29x?—24x+16

= ( )P—2x( )x( )+ )7
= = )

<BREBI>LDRAZRAUTCERHMDER LU,

DOx*+2x+1

@x*—4x+4

@x*—12x+36

@Wx*—8x+16

®Ox?*+6x+9

®4x*—20x+25

M9 x*+6x+1

®25x*+30xy+9y°?

MEEOEDOAR (ARO)
a?—b%=(a+b)(a—0>b)

PP EIRBOHKID |
Dx*—25

<EEBA4>LEORAZINAULUTRBEDELEZSU,
DOx?>—1

@x?*—9
@t?*—36
@25—x?
®81—y°*
®4x*—25
@®25—4y?

®36x*—49y?



